@ @ewichfsmaBe - Q'_”‘2

1kg = dag
1. 10 dag+ = 1kg 1kg - 20dag=
70 dag+ = 1kg 1kg - 60dag=
80 d09+ = lkg lkg - 30d09:
100 dag+ = 1kg 1kg - 90dag=
2. 14dag + = 1kg 1kg -27dag =
77dag + = 1kg 1kg -68dag =
86dag + = 1kg 1kg -35dag =
38dag + = 1kg 1kg -23dag =
Liter
3. 25l + 8l = 56l -7l = 62l — 5l - 4l =
371 + 6l = 251 -8l = 40l -4l -7l =
14l + 71 = 48l -5l = 81l-3l-1l =
69l + 9l = 39l -3l = 73l -5l-6l =

4. In einer Kiste sind 6 mal 1l Colaflaschen enthalten. Die
Mama bringt 3 Kisten nach Hause. Wie viele Liter Cola sind
das?



